
What are the common factors for 54,24,18
Answer:1,2,3,6

Step-by-step explanation:

The factors of 54,24 and 18 are 1,2,3,6

Answer:

Step-by-step explanation:

We find what number we multiply by another number to get 54, 24, 18

54: 1, 2, 3, 6, 9, 18, 27, 54

24: 1, 2, 3, 4, 6, 8, 12, 24

18: 1, 2, 3, 6, 9, 18

Now the numbers that repeat in these sets are the common factors

We got 1, 2, 3, and 6, which make these our common factors

How fast is a cheetah
List 3 terms in the expression 4x + 5y - 12 - x + 3y

A.

B.

C.



Is this statement true or false? The Symmetric Property of Equality lets you exchange the expressions on each side of the equals sign.
If many different observations can all be explained by the same theory, does that make the theory true? Does it make the theory more likely? Explain your
answer.
Which categories of securities had the most volatile annual returns over the period 1926–2016?
Professor Marcos believes that evolution has created many remarkable capabilities that are present even in early infancy, particularly in areas of special
importance, such as understanding basic properties of physical objects, plants and animals, and other people. Based on these beliefs, Professor Marcos is likely
a(n)____
Which phrase describes the variable expression 11 • x ? 1. The product of 11 and x 2. 11 decreased by x 3. The quotient of 11 and x 4. 11 increased by x
The so-called "investment model" is a model that seeks to explain why people stay with their long-term relationship partners. This model identifies three key
factors, namely a. passion, commitment, and intimacy. b. security, anxiety, and avoidance. c. satisfaction, alternatives, and investments. d. similarity, familiarity,
and propinquity.
The creation of the Lowell system was part of which economic trend in 19th century New England
What is namaste in english
Find the area of a triangle with base of 10 inches and altitude to the base of 16 inches. 80 in² 135 in² 160 in²
What is the change in enthalpy for the combustion reaction of butane, C4H10? 2C4H10(g) + 13O2(g) ? 10H2O(g) + 8CO2(g)
Given:
C4H10(g):?Hf °= –125 kJ
H2O(g):?Hf °= –242 kJ
CO2(g):?Hf °= –393.5 kJ
Suppose that six individuals are interested in taking part in a study relating BMI to a number of health outcomes. The following 6 numbers represent the
individuals' BMI (kg/m2). a. 25.78 b. 21.06 c. 36.54 d. 29.51 e. 18.96 f. 34.05 A) What is the mean and median of the individuals' BMIs? B) Suppose that a BMI
above 30 is considered obese. What is the relative frequency of obes in this group?
A simile can become a cliché _____. when it is overused

When it does not use "like" or "as"

when too many of them are used in a poem
A water cooler can hold 50 pt of water. About how many liters of water can it hold?

1 L?1.06 qt

23.6 L

26.5 L



94.3 L

106.0 L
Why were long-term enlistments NOT a popular idea?
The length of a rectangle is 4 inches less than its width, and its perimeter is 24 inches. Find the length and width of the rectangle. What is the length and width?
What practices allowed China to feed its growing population
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